DRER LY

1
3 tan 45° — 3v2 cos 60° + V3sin 60°

o 1 @4—3\/5 ® 4432

N 2 2
@4—32 ® 0

1 1 3
(FA4) =-x1-3V2x =+ \/§><£
2 2 2
1 3 3
=373V2%3
4-3+2
- o},




2.

(C 7} AZEQl A ZH47vg ABC oA AB =2, BC =12 & o,

® —% @-”4‘/5
@_1+42\/§ @_ﬂ

AC— VP-T =3

(sin B+ cosB) (sinA — 1) =




3.

D 4, 7, 3V3 @ 4, 7, V29
® 4, V51, 3V3 @ 4, V48, 9
@4 V2. 3V3

B

(1) AM’ =52-32 =16 . AM = MB = 4
(2) AM = BM

LAM =6

x2 =62 +42 = 52

sox = V52

(3)62=x>+32 . x=3V3




ohg 1Y B AZUZY ABCOIN AR BO=
2:1¢ o, sinA xcosC 9] gf2?

1 2 1
O — @ — 3)-

2

— 2
@ 3 ®

BH————C

AB =2, BC=1°]2} sl AC = +5 otk
1

5 (o)
w2hA] sin A x cos C = x — % o]},

&l
&




® 10 @ 11 ® 12

® 14

%x8x5xsin60°:10\/§
et A g = 10, b= 3 ©|t}.




T 18 2] gABCD °llA /B = A
90°, AB = 6cm, BC = 3v5cm,
BD = 8vV3cm ¥ o}, cABCD 9]
Yol & Fotofet.

> Heh. 54cm?

AC = /6% + (3V5)2 = V81 = 9(cm)
DABCD2] Y o]
=1x8x/§x9><sin(180°—120°)
:§x8\/§x9><sin60°

:%xsﬁxgx%gzszl(cm?)




o} 194 PT, PT/ o] €4 0O
o e ), AT Hie ol
=7
T
1 125 325
@ ﬁﬂ cm? @ gﬂ cm? ® 5 7 cm
220 2 229 2
@ g~ T

o] vFe] g Mol A I Hofl 12 F A dol= 2




8.

LR T EF:

il

® 0.3903

1 =
o]-gste] BD 9] Zo|& F5tH?
Yy
1.0724 C
1
A
v m
O B D T
2% | AR (sin) | ZAFSI (cos) | HHE (tan)
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° | 0.7314 0.6820 1.0724
48° | 0.7431 0.6691 1.1106
O -0.724 @ -0.6820
@®)0.3180 ® 0.6820

CD CD
=— = — =1.0724°\|4 x =47°
tanx — . 072491 A x = 47
BD = OD - OB
AO=1, cosx=£:@=0.6820
AO 1

-~ BD =1-cosx=1-0.6820 = 0.3180




ohe Oy} o] zA = 90° ¢ A ZHEZS ABC oA BC = 26cm
CA = 10cm ©]t}. o] Azt oA vl BC o] A5°] &= ¥ O
o] Htz|290] Zo|& Fsfoizt (T AB, CA &= HH O 2] FAloltt)

2 09] WA §9] AolE rem o)zt 5HH

AB = V262 - 102 = 24(cm)°| 22

AABCE] o] = 10 x 24 x % = 120(cm2)
1 1
AAOB+AAOC:24XrX§+1OXrX§

1
=10x24 % —
2




ohS 13} 20] RA 2] OA 7 WEls} 521 47HE O - ABC oI A

LOBA = 30°, ZABC = 75°, /ACB = 45° ]2, BC = 15 ¥ ©f,
A2 OA o] Zol& Fstoqet.

(0]

it

\VARR 4
0
i

52

/A =180° - (75°445°) = 60°
15 AB

AABC oA A1 Z] o o]5te] — =—_ AB=56
sin 60° sin 45°

. OA = ABtan30° = 5v2




